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.Time 
: ZVz Haurs

lnstructions: i)

ii)

ISemesterB.C.A.IB.H.M'Examination,May2022
(NEP) (2021'22 and Onwards)

LANGUAGE SANSKRIT.I

Buddhacharitam - lll Ganto, Grammar and Gomprehension

NP - 028

Max. Marks : 60

Answer in Sanskrit/KannadalEnglish'

Question Nos. l, VI and Vtl should be answered in

Sanskrit onlY.

t. qfifu{qs-dtkdrfrca t

ioojn d w$ddd1 uotr ?rdoc)o.

Write the correct answer :

1) {ffi&:F: ?

e{ fu*n{:
g gaortfh:

2) 
'gqa@ o.wrslqalq: ?

3d) t{re:

g emvlu'

edr) ftKrei:

{y g<r:

e{t) wftr<rs:

{; qrq;

3TD rrgq

{) fffiqt-xq

3TD {KFr{r

{lw

g gw*s:

$ qq,

(8x1=8)

3) 1v:5ds lil?ififl-FqfrqgTr{rwmrq t

30 Tiqq

E1 frrwmorq

4) {rdgilTn: *q v6 {errt6ti Filqr{ ?

3{) t{tE

E1 uFun

5) {|qgqR: sEur aTsl-(s: {q 3TrtrE ?

e0 rrxd'

9 ta*g:
P.T.O.
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6) s'f qt*ftffiFft ?

eq **'

g +rg{:

n 6-trsc.*ot ?

31 qrcq{

$ q{T

:{D qrflr'

{) ilrn,

3TD ilFuqq

{l g{r

8) srrgmiq$q-d: T{€: $rgrtefiei: s: ?

:fl 4q, 3dr) g:sq.

$ gqq {) frt,

tt. gdnervq{q g+tftrsd | (1x8=8)

; 
uodr $S*mdletu$0,r,.
Answer any one of the following :

t I srau}v*a tn-o'ro-!f-fr: 3{ft-{'s x*+i ftrcra t

edo #o edd d ed- rc e,:- ddg rjd$4 d: o$ $ u o t'dd:. zu d os:o'

Write an essay on date, place and works of the poet Ashwaghosha.

2) ftraret{q {itrruq fl-{uftTTr: tr*TT: fug5d t

x,qdrOri dodedddle,lo€,$ dnad +$ddddl adoxr'

OeJcrine the incidents which cause the agitation of Siddhartha.

nt. Ed: M: dgftEquftft{fud I (2x4=$)

add: edo$dddl dro$ e-+D ${So$q udos:0.

Write short notes on any two of the following :

1) q6p5sq

2) {*<t:

s) rrar++R+:

+) {arRrqrseqr: t
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lv. qgqf {d"T+qsryri6€rfufln t

ss+ dn-edilddl erd)m ox, adoxr.

Translate and explain any four of the following :

1) dfr1wsfure trrd
' 

grfi{ermgwhqg I

frFs i{qqT+RIrq*qTq

sdrTrqqrql-sfutnqHq tt

2) ft:{eqdqrrtIS-A''d

qrv*ffirqqFnFl|q t

' gctt:5frrqqfranhv}

ryean{Eyfrg: 
tt

syffi
qffigueorfrt

gsrfrtg: sq*ilqmrq
of{t: S'el$T {d TST|:|I-{ | I

4) sqq S: qo+tgto'

ixil: ffi{Qftumaca: I

qgigora' frrFrf,r{flq

ftgfutqxffigwt tt

5) s-tTeltrdqqiqe-{zl

{iq-{q*ffift?rirtr{-q t

arvr: Sfr+itgftEslulTq
qrn EflT;nq q*q r1cT: I I

6) q.ifuoer+a*qot5:

stur qrqnftlq gsq]6-g; 1

c*Frcnfxi ua$tq-dfr

umt-ffirMd{g: ll

NP - 028

(4x3=12)
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(2x3=6)V. e*: erd: {+{kguJd r

addl amdrd-Jd1 iod$r dtod adoh.

Explain with reference to context any two of the following :

. 't) srdrlt{pt$fcr$Q; I

2) fr{uwiqaaq+rrci-e t

3) q-;qNq tTr{ft qrtsqlq I

4) s: qq ti' Kn;rtsrg6 1

vl. {q'ilTrrqr 3ffirFrfrsd I

. sT) T{fisqgqqrflrfr{q{rf, r (ver+qqd) (5x1=5)

1) 4Efr 5) 3{a

2) SRrn: 6) rrn
- 

3) s{r 7) Ffi-{'iq

4) 3{6q 8) wt-d{ |

s{r) qN;nqqgmifem-Alm 
TtftftIga 

t(qqr+rqW) (5x1=5)

1) {Hq 5) qa:

2) rJ€rFr 6) {ndTqtq

3) qq 7) {IR-E

4) qrf,flqtq 8) f{rflq I

vlt. rtsrTt-riqksr e+frRTfuavr{HEsd{rFrft{sd I (4x2=$)

nfig gq wRq {dt l T{ llt{il-i, qr;i, sri qrqnq $mr{T: sR f q f,? ilftR-q eq

qpr-Td-ffi-q€tr-E.erq-qnfl*Trqqq: I qTt qffrn: Tfi g-{R I q*qi urqqrRqi

ffi ffir rrdR I drfr frdi sd: {tFrdfi qR t

grqT:

1) urtgfhfrTdA ?

2) il{fhft'Wgil:ffi ?

3) rrt*TfiS-{R ?

4) ntg*'qEanffct:1qqfr ?


